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Simplify Expressions Worksheet

Simplify the expressions.

la. 6n — 8nx + 3 + 6nNX — 5X

2a. 5 — 4w + 6y — 2y + 6w

3a. —-7b + 9 — (=7)b

4a. -9 - 8w + 10 — 2w

5a. -8 — 10k + 10k® + 7k — 2 + 6k?

6a. -8 —6p + 9z — 4z + 5p

7a. 9x — 9 — x

8a. —6n — 10 — 2n

9a. 7 + 9k + 7k® — 3k + 5 + 10K?
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Answer Key

la. -2nx+6n-5x+3
2a. 2w+4y+5

3a. 9

4a. —-10w+1

5a. 16k*—3k-10
6a. —-p+5z-8

7a. 8x-9

8a. -8n-10

9a. 17k’ +6k+12

Copyright Homeschoolmath.net - www.HomeschoolMath.net/worksheets. Permission to copy: You are free to copy this worksheet to any
number of students for their mathematics work. Do not distribute on websites, books, or any such material without permission.



http://www.tcpdf.org

